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ExRIain' l_he income based me-thod of computing . Gross

National Income. - ' 8

Explain why we cannot calculate national product simply

by adding up the producfion values of all firms. 4

What is the difference between Gross National Income and

Gross Domestic Product ? 3
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(@) Define desired aggregate spending function for a two-sector
modef of the economy and show how it helps in determining

the equilibrium level of real GDP: . - SRR

(b}  You are given the following information about an

economy !
= 1000 + 0. 6y
I = Rs. 300 Cr.
G=Rs. 0
~ T =Rs. 100 Cr.
X =Rs. 0 .
M = Rs. 100 Cr.

Calculate the equilibrium level of GDP., 5
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C = 1000 + 0.6y

1= 300 T &.
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What is the relationship between tax rate and the simple

multiplier ? 5

Explain how governments might try to use their fiscal policy
instruments to end a recession. What practical difficulties

might berencountered in such a policy ? 10
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Explain the derivation of the LM curve and show how an increase

in price level shifts the LM curve. 15
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(@)  In Keynes view, what are the motives for holding money

and how do they determ_ine the demand for money 7 10

(b}  What is the quantity theory of money ? 5
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{¢)  How is the short run aggregate supply determined 2 10

®) ‘What is Keynesian short run aggregate supply

curve ? | 5
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" What are the components of balance of payments ? What is
the significance of a current account balance ? What causes a

disequilibrium in the balance of payments ? | 1§
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Write short notes on any two of the following :

0] lntei‘natlional Comparisons of GDP;

(i Consumption function,

(iif) " Determination of Exchange Rate.
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